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= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
09 HALAHIEA S 1,000 0 1,000
O XNG2Lts S ME2 ASE3 3+
ot B3 1,000, 000& 1,000
AMAS JsdIA Mo AIHALS 7,500 15,000 AT7,500
402 RI2EX=20l A 7,500 15,000 AT7,500
01 22t E2E X 7,500 15,000 AT,500
O AAS Jisdud i AIHALY
15,000,000% * 50/100 7,500
IIZEHs S dAS &5 22 A4S (%) 35,000 0 35,000
< 15,000
s 20,000
402 BI2FX=01 M 35,000 0 35,000
< 15,000
s 20,000
01 2I2tRE2E X 35,000 0 35,000
O JI=HHIUS MASHE |4
50,000,000& = 1Jf 2~ +70/100 35,000
< 15,000
e 20,000
EEag ML JsES 289,672 192,172 97,500
= 115,000
< 4,500
s 170,172
HFEHASZ2LHH AME22t 30,000 0 30,000
401 AIEHIZ 201 8I 30,000 0 30,000
01 A& Bl 30,000 0 30,000
REHASARYME AL B4
30,000,000& * 10024 30,000
NIl ASAEELHY 2Y 9,172 9,172 0
101 @124l 4,172 4,172 0
M4 JI2ZHZEXNSES 4,172 4,172 0
O MIl= ASANERZE 29 202Y 4,172
— MEZE 29 =Y 4,172,000 4,172
206 M= Hl 5,000 5,000 0
01 MHZ 4l 5,000 5,000 0
O MIlz ASANEZE 29 M=l
20,000& » 2503 5,000
HA SIUSLEES SUHES(=HI) 80,000 0 80,000
= 40,000
e 40,000
402 2I2H X201 M 80,000 0 80,000
= 40,000
e 40,000
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C HE =BT
A = ASOHE

Oe: SEBNS UNMN )23 (B9 ®R)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 RIZERt2EX 80,000 0 80,000
O HA IUSLESS 2UlES A Y
80,000,000& = 1JH A 80,000
= 40,000
[ 40,000
SHHsX ASEHs MASE HLAIYASE (=HI) 10,500 0 10,500
< 4,500
e 6,000
402 RI2EX20| A 10,500 0 10,500
< 4,500
= 6,000
01 RIZEAI2E X 10,500 0 10,500
O 8HsK 422 MASE HEAEAMS
15,000,000& = 1JHA * 70/100 10,500
< 4,500
e 6,000
HAF ML = HESIMEI DIz 28 A5HF 10,000 0 10,000
207 O] 10,000 0 10,000
03 Al & 11HI 10,000 0 10,000
O HAMHASH? & A48 A 24
10,000,000& * 1JH A 10,000
QL BUEE FUAE J=AIE(20]) 50,000 0 50,000
= 25,000
s 25,000
402 QI2H X201 M 50,000 0 50,000
= 25,000
s 25,000
01 RIZEAI=2E X 50,000 0 50,000
O 20 Y EE FUHAS Ji=Ad
50,000,000 50,000
= 25,000
s 25,000
HEZA0E S0 CGsIAMSAE A (=) 100,000 0 100,000
= 50,000
s 50,000
402 RI2EXt20| ™ 100,000 0 100,000
= 50,000
[ia 50,000
01 BIZEAt=2E X 100,000 0 100,000
O EEZA0S F0l THal MAFAIE AlE
100,000, 000& 100,000
= 50,000
s 50,000
sIl=HY 400,024 479,443 AT9,419
= 9,000
< 30,000
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2N
X ZH -
L= B

el

M. o (BH) - HSAY - BAS il HZS2
= 361,024
TSYRQE 29 40,320 37,910 2,410
EZ38=2RE 29 40,320 37,910 2,410
101 @121 15,093 12,696 2,397
04 JI2ZtH 22 XNHEE =+ 15,093 12,696 2,397
O 3¥x28 29 B8X o8¢ 15,093
a2 45,000 * 261 » 1Y 11,745
- =54 45,000 * 1Y = 52¢ 2,340
- =0AHZ 49,000& + 149 = 12& 588
— ALE2H 35,0008 * 14 = 12& 420
201 et A | 5,127 5,114 13
01 AFR2t2l bl 1,000 1,000 0
O 3g9=2% 2% 24| 1,000,000& 1,000
02 352494l 4,127 4,114 13
O BYREY 2% Hyey
1,737& = 200 = 90 3,127
O S24&2 & AMESRXYI 500,000& * 23] 1,000
206 M =8l 12,000 12,000 0
01 X &2 bl 12,000 12,000 0
O =228 X &8 2¢ 400,000& * 308 12,000
401 AIEHI L 20| 8,100 8,100 0
01 Al& bl 8,100 8,100 0
O S24a2 & ANMERXYI 8,100,000& 8,100
A= JleExzs 85 XN 354,704 236,133 118,571
= 9,000
T 30,000
= 315,704
StAzsI|ls EEAUA A8 2,000 2,000 0
201 L2 9| 2,000 2,000 0
01 At 22l Yl 2,000 2,000 0
O ASAYEE SEMzI)Is 29|
2,000,000 2,000
WSA=SAIE MII=s ASAE 20,944 20,678 266
201 LEt2 Y| 14,494 14,228 266
02 33249l 14,494 14,228 266
O ASAYEE 8& HEJ]=s 29| 9,494
— A =4l 1,737& x20L*2CH 90! 6,254
— ASANEI MIIR3 270,000& = 12& 3,240
O MIIZASAIYE AL EH KX H
5,000,000& 5,000
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AN seIIsHE

M sYII=HE

Sl BeYs JEEI BE AL (S &2)
= — = 4 &

SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
206 M =8l 6,450 6,450 0
01 M=z Hl 6,450 6,450 0

O A& ASMHHZE 2SS 1,000

— dEF UM Jisd M2

20,000& = 105 = 52 1,000

O nstgdsANE=gdne 4,000
— LEd=s Wil Hi2P

100,000& * 15& 1,500

— e EsHHE 27 1,000,000& 1,000

— EsAME 25 M 100,000& = 15& 1,500

O &3sx 225 30 XX 1,450

— A3E HE & 10,0003 255 250
— ASE doliSYM M=

30,0008 = 45 * 102 1,200

AHE 28I IS8 Helxd 87,190 97,660 210,470
101 124 4] 25,941 17,090 8,851
VBIEEEP =P 25,941 17,090 8,851

OZ M4 A& U 5D 28 B2l a9y 14,085
— BMM A Y =) 2832 ARy
45,0003 2612 +1H 11,745
- Fr=¢ 45,0008 * 18 » 52 2,340
O Zda Al Fd2e 8Y 5,928,000 5,928
O &l 8¢ 2 A=Y
57,0002 *104 1 5,928
201 fet2E | 12,809 13,720 A9
01 At 22l bl 3,500 4,500 21,000
O Zda MY oteA X 2,500,000& 2,500
O exd 88 7Y (F2USE)
1,000,000& 1,000
02 524t 9,309 9,220 89
O ZdL AME HIIe3 50,000& = 1290 & 600
O ZH& AlE gz
1,737 +20L+1202 * 1S 4,169
O Zdi AMEES & K22
2,000,000& = 23| 4,000
O 20l ME=2 |X2c 540,000& 540
206 M =8l 22,140 20,550 1,590
01 M=z Hl 22,140 20,550 1,590
O 2 2d1E 6,000,000& 6,000
O 4EME(R) 8,200% *200& 1,640
O dEMNZ(HHE &4E) 5,000,000 5,000
O ZTbH Elbl 1,000,000& 1,000
O ZTHH HIZ 10,000& 50 % 500
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D sgllsdH

CsgllEny

SN FE - EA(SA) - MRAY - BES il Bl RE2
O ZMHE 32 & LE 1,000& +3,0004 3,000
O Zapae] AsI7 500,000 500
O AJHX 212238 =3 2,000,000 2,000
O 23Xk 500,000 *43| 2,000
O £ dolls L= 500,000& 500
401 AIEHI L 20 26,300 46,300 220,000
01 A& HI 26,300 46,300 220,000
O =3t E28 HIEAE 45,0003 = 140m’ 6,300
O 2x=A4 & otAES 20,000, 000& 20,000
=3 THH 98,970 108, 195 N9,225
101 @124 dl 25,000 25,000 0
04 JIZHHZ2XREES 25,000 25,000 0
O 33HTHEH 484k Q1A H]| 25,000,000 25,000
201 Let24E] 6,850 1,200 5,650
01 At 2teltl 3,250 1,200 2,050
O 2N FEEE MZE =240 X
1,000,000 1,000
O =3HEHEZE X 2,500m x900& 2,250
02 =224l 3,600 0 3,600
O =3 HEE 24| 3,600
— 24 3,000,000& 3,000
— IS 8 S HIIRS
100,000& 6 & 600
206 M= Hl 67,120 81,995 A 14,875
01 =4l 67,120 81,995 A 14,875
O 23527 5,000, 000 »2A! 10,000
O =3t 8 & HE+ 40,0003 *200% 8,000
O 2SNl st 10,000,000& 10,000
O =23l s+ (4SH, &42H, S2A
g) 3,000,000& 3,000
O st MERL (BT E, Batzds 5)
1,500, 000& 1,500
O =3t &#z2H 2 M 2
200,000& = 1098 « 33l 6,000
O =M A2F XM 2L H01S, X
=U ) 12,000,000& 12,000
O U=Rsz2 M8 sH 2
33,000& = 4004 1,320
O 2T 2AE(EE, A 8) N M7
3,600,000& 3,600
O =3l fFHEMET ML (DIAME S)
6,000,000& 6,000
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2N

SIS dH

M sgIIsNe
Sl BeYs JEEI BE AL CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O REM2MAY (24, 12 S5)
1,500, 000& 1,500
O Xdol 2¢HE ¢ 3,000,000 3,000
O HA US 400& = 3,000kg 1,200
DI Y SRR M4 B 7,600 5,200 2,400
206 M= Hl 7,600 5,200 2,400
01 M= 4l 7,600 5,200 2,400
O ZHHHSA 2= 2,400,000 2,400
O B EE i W=l 5,200,000 5,200
AL 2L (=3Hl) 18,000 0 18,000
= 9,000
[ia 9,000
201 Let4d] 3,000 0 3,000
= 1,500
[ia 1,500
02 =24l 3,000 0 3,000
O =& |22l 3,000,000& 3,000
= 1,500
e 1,500
206 M= Hl 15,000 0 15,000
= 7,500
s 7,500
01 =4l 15,000 0 15,000
O Xt 29 M4l 15,000, 000& 15,000
= 7,500
s 7,500
Jls=dE M ASR 22 ASANEE 2H(%4l) 100,000 0 100,000
< 30,000
s 70,000
201 Let2d] 10,000 0 10,000
< 3,000
[ia 7,000
02 2324l 10,000 0 10,000
O MASZE= THHH el 8,340,000 8,340
< 2,502
= 5,838
O ASAgZ MIIA 1,660,000 1,660
< 498
s 1,162
206 = Hl 10,000 0 10,000
< 3,000
[ 7,000
01 MHZ 4l 10,000 0 10,000
O &2, &4&, &4l 5 1,000,000& * 105 10,000
< 3,000
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2N

sJl=dd

MM sHI) s
ool DEYEs J2E3 BS X CERED
o
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
= 7,000
401 AlEHIZL 2 0HY| 80,000 0 80,000
= 24,000
= 56,000
01 AlEH| 80,000 0 80,000
O oA &X, s
20,000,000& * 40 A 80,000
& 24,000
= 56,000
RIAEFUHE 028 S=otx N 20,000 0 20,000
207 A0 | 20,000 0 20,000
03 A& ™3| 20,000 0 20,000
O R2ANEFUHE SE:ol= e
20,000,000& * 13HA 20,000
SSHEEAENE L MAES 5,000 205,400 A 200,400
Y Metx XES S =29 5,000 4,000 1,000
307 212t0| & 5,000 0 5,000
02 QIZ2ZtA3AE X2 5,000 0 5,000
O g &Mekxj s& 91
5,000,000& = 1JH A 5,000
HHSAAH (sYIl=HH) 107,522 105,222 2,300
=&t 107,522 105, 222 2,300
SEXNZAIY J2& | 107,522 105, 222 2,300
201 2Et2Ay| 29,000 29,000 0
01 AP 22| d| 20,000 20,000 0
O gbtx==2H| 20,000,000& 20,000
02 324 H| 9,000 9,000 0
O 2222 ¢ HA 9,000,000 9,000
202 04d| 66,322 66,322 0
01 2Ll 54,322 54,322 0
O gf2=& ol 54,322,000 54,322
02 EHNHI 12,000 12,000 0
O SeisAANLYAT BNy
200,000& = 5% * 12& 12,000
203 ¥ R =& H| 11,700 9,900 1,800
01 JI22HE Y FFEH| 3,300 3,300 0
O JHAL2IAAR=XH|[(AZ) 275,000 x12& 3,300
02 AAAJMAAH 2= XY 1,200 1,200 0
O s3oZ8 . Mslis MLIEs 2R
A& 40,000 »30H 1,200
04 EASHEIRFAH| 7,200 5,400 1,800
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AN seIIsHE
H: HH2IAH(sLII=4H)

& 123l (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
O BA2Y HRFAH 0
O =& X3 350,000& 128 4,200
O HRHet 250,000& * 12 3,000
405 XHobE S HI 500 0 500
01 AL EFH S 500 0 500
O 2BM 472 237 500,000& 500
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